CITY OF APPLETON

Department of Public Works

MEMORANDUM

	ance Committee nicipal Services Committee
Util	ities Committee
SUBJECT: Award	l of Contract
The Department o	f Public Works recommends that the following described work:
	treet Stormwater Pond
	•
Be awarded to:	
Name:	MCC, Inc.
Address:	2600 N Roemer Road
	Appleton, WI 54911
•	
In the amount of:	\$1,218,309.00
With a5 %	contingency of : \$61,000.00
For a project total	not to exceed: \$1,279,309.00
** OR **	•
OK	
In an amount Not	To Exceed :
Bue	dget: \$1,709,502.00
Estin	nate: \$1,600,000.00
Committee I	
Council I	Date: <u>02/20/19</u>

LEONA STREET STORMWATER POND Unit G-19

G-19 Bid Tabulation

*corrected figure

	January 21, 2019			MCC, Inc.		Radtke, Inc.	.
Item No.	Description	Qty	Unit	Unit Price	<u>Total</u>	Unit Price	<u>Total</u>
1	Mobilization	1	LS	\$3,100.00	\$3,100.00	\$24,707.00	\$24,707.00
2	Furnish, Install, Maintain & Remove Erosion Control	1	LS	\$2,880.12	\$2,880.12	\$5,000.00	\$5,000.00
3	Furnish, Install, Maintain & Remove Silt Fence	6,163	LF	\$2.00	\$12,326.00	\$2.12	\$13,065.56
4	Furnish, Install, Maintain & Remove StoneTracking Pad	3	EA	\$806.00	\$2,418.00	\$1,378.00	\$4,134.00
5	Furnish, Install, Maintain & Remove Temporary Access Road	1	LS	\$14,344.00	\$14,344.00	\$47,425.00	\$47,425.00
6	Furnish & Install Soil Stabilizer, Type B	2,144	SY	\$0.56	\$1,200.64	\$0.58	\$1,243.52
7	Furnish & Install Hydromulch Bonded Fiber Matrix	8,039	SY	\$1.13	\$9,084.07	\$0.68	\$5,466.52
8	Furnish & Install Erosion Control Mat, Class I, Type A	3,500	SY	\$0.94	\$3,290.00	\$1.52	\$5,320.00
9	Furnish & Install WisDOT Medium Riprap & Filter Fabric	57	CY	\$40.00	\$2,280.00	\$44.50	\$2,536.50
10	Furnish, Install, Maintain & Remove 12-inch Diameter Sediment Logs	190	LF	\$13.20	\$2,508.00	\$8.93	\$1,696.70
11	Furnish, Install & Maintain Site Safety Fence	2,390	LF	\$2.50	\$5,975.00	\$3.00	\$7,170.00
12	Furnish, Install, Maintain & Remove Traffic Control	1	LS	\$577.00	\$577.00	\$3,780.00	\$3,780.00
13	Clear & Grub	1	LS	\$13,850.00	\$13,850.00	\$15,600.00	\$15,600.00
14	Strip & Stockpile Topsoil	2,169	CY	\$3.05	\$6,615.45	\$2.08	\$4,511.52
15	Obtain Clay Samples	1	LS	\$0.01	\$0.01	\$410.00	\$410.00
16	Common Excavation	74,434	CY	\$8.06	\$599,938.04	\$7.53	\$560,488.02
17	Import Clay Material	2,203	CY	\$8.75	\$19,276.25	\$4.40	\$9,693.20
18	Install Clay Liner	2,203	CY	\$2.75	\$6,058.25	\$3.44	\$7,578.32
19	Scarify & Compact Existing Clay	6,083	SY	\$0.40	\$2,433.20	\$0.38	\$2,311.54
20	Install Salvaged Topsoil, Pond	2,169	CY	\$3.75	\$8,133.75	\$4.30	\$9,326.70
21	Abandon 21" Storm Sewer	15	LF	\$25.00	\$375.00	\$26.25	\$393.75
22	Abandon 42" Storm Sewer	70	LF	\$60.00	\$4,200.00	\$63.00	\$4,410.00
23	Furnish & Install 18" Storm Sewer	21	LF	\$120.00	\$2,520.00	\$126.00	\$2,646.00
24	Furnish & Install 21" Storm Sewer	13	LF	\$200.00	\$2,600.00	\$210.00	\$2,730.00
25	Furnish & Install 24" Storm Sewer	803	LF	\$154.00	\$123,662.00	\$147.00	\$118,041.00
26	Furnish & Install 60" Storm Sewer	42	LF	\$200.00	\$8,400.00	\$210.00	\$8,820.00
27	Furnish & Install 66" Storm Sewer	1,111	LF	\$190.00	\$211,090.00	\$199.50	\$221,644.50
28	Furnish & Install 18" Apron Endwall	2	EA	\$750.00	\$1,500.00	\$788.00	\$1,576.00
29	Furnish & Install 66" Apron Endwall	1	EA	\$4,000.00	\$4,000.00	\$4,200.00	\$4,200.00
30	Furnish & Install 48" Dia. Storm Manhole	74	VF	\$210.00	\$15,540.00	\$220.50	\$16,317.00
31	Furnish & Install 60" Dia. Storm Manhole	4	VF	\$950.00	\$3,800.00	\$997.50	\$3,990.00
32	Furnish & Install Box Manhole	21	VF	\$1,475.00	\$30,975.00	\$1,548.75	\$32,523.75
33	Furnish & Install Tee Line Manhole with Bend	20	VF	\$610.00	\$12,200.00	\$640.50	\$12,810.00
34	Furnish & Install Storm Manhole with Sump & Snout, or Owner Approved Ec	1	EA	\$12,500.00	\$12,500.00	\$13,125.00	\$13,125.00
35	Furnish & Install Storm Manhole Casting	10	EA	\$1,050.00	\$10,500.00	\$1,102.50	\$11,025.00
36	Furnish & Install Outlet Structure	1	EA	\$8,000.00	\$8,000.00	\$8,400.00	\$8,400.00
37	Furnish & Install Extra Stone Bedding	200	TON	\$15.00	\$3,000.00	\$15.00	\$3,000.00
38	Furnish & Install Permanent Gravel Access Road	895	SY	\$20.50	\$18,347.50	\$22.23	\$19,895.85
1	Furnish & Install Extra Stone Bedding	200	TON	\$0.01	\$2.00	\$15.00	\$3,000.00
39	Furnish & Install Shoreline Zone Seeding & Fertilizer	1,492	SY	\$0.27	\$402.84	\$0.97	\$1,447.24
40	Furnish & Install Side Slope Zone Seeding & Fertilizer	30,718	SY	\$0.45	\$13,823.10	\$0.58	\$17,816.44
41	Furnish & Install Wetland Seed, Mulch & Fertilizer	566	SY	\$0.18	<u>,</u> \$101.88	\$1.84	\$1,041.44
42	Furnish & Install Turf Grass Seed, Mulch & Fertilizer	1,537	SY	\$1.98	\$3,043.26	\$1.21	\$1,859.77
43	Furnish & Install No Mow Fescue Seed, Mulch & Fertilizer	6,380		\$1.26	\$8,038.80	\$1.42	\$9,059.60
44	Furnish & Install Seed, Mulch & Fertilizer - Reforestation Area	4,722		\$0.72	\$3,399.84	\$1.28	\$6,044.16
	י	TOTAL IT	EMS 1	THROUGH 44:	\$1,218,309.00		\$1,257,280.60

LEONA STREET STORMWATER POND Unit G-19

	January 21, 2019		١	MudTech, LLC		Wondra Construction, Inc.	
ltem No.	Description	Qty	Unit	Unit Price	<u>Total</u>	Unit Price	<u>Total</u>
1	Mobilization	1	LS	\$90,000.00	\$90,000.00	\$136,650.00	\$136,650.00
2	Furnish, Install, Maintain & Remove Erosion Control	1	LS	\$5,000.00	\$5,000.00	\$3,100.00	\$3,100.00
3	Furnish, Install, Maintain & Remove Silt Fence	6,163	LF	\$1.65	\$10,168.95	\$1.89	\$11,648.07
4	Furnish, Install, Maintain & Remove StoneTracking Pad	3	EA	\$3,333.33	\$10,000.00	\$2,550.00	\$7,650.00
5	Furnish, Install, Maintain & Remove Temporary Access Road	1	LS	\$15,000.00	\$15,000.00	\$51,185.04	\$51,185.04
6	Furnish & Install Soil Stabilizer, Type B	2,144	SY	\$1.87	* \$4,009.28	\$0.85	\$1,822.40
7	Furnish & Install Hydromulch Bonded Fiber Matrix	8,039	SY	\$3.31	\$26,609.09	\$1.15	\$9,244.85
8	Furnish & Install Erosion Control Mat, Class I, Type A	3,500	SY	\$1.00	*\$3,500.00	\$1.20	\$4,200.00
9	Furnish & Install WisDOT Medium Riprap & Filter Fabric	57	CY	\$20.00	\$1,140.00	\$71.82	\$4,093.74
10	Furnish, Install, Maintain & Remove 12-inch Diameter Sediment Logs	190	LF	\$6.00	\$1,140.00	\$7.80	\$1,482.00
11	Furnish, Install & Maintain Site Safety Fence	2,390	LF	\$2.90	\$6,931.00	\$3.40	\$8,126.00
12	Furnish, Install, Maintain & Remove Traffic Control	1	LS	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
13	Clear & Grub	1	LS	\$16,000.00	\$16,000.00	\$17,903.00	\$17,903.00
14	Strip & Stockpile Topsoil	2,169	CY	\$7.75	\$16,809.75	\$3.71	\$8,046.99
15	Obtain Clay Samples	1	LS	\$500.00	\$500.00	\$0.01	\$0.01
16	Common Excavation	74,434	CY	\$9.50	*\$707,123.00	\$17.94	\$1,335,345.96
17	Import Clay Material	2,203	CY	\$2.18	\$4,802.54	\$0.01	\$22.03
18	Install Clay Liner	2,203	CY	\$5.75	* \$12,667.25	\$4.40	\$9,693.20
19	Scarify & Compact Existing Clay	6,083	SY	\$1.75	\$10,645.25	\$0.21	\$1,277.43
20	Install Salvaged Topsoil, Pond	2,169	CY	\$8.75	\$18,978.75	\$7.24	\$15,703.56
21	Abandon 21" Storm Sewer	15	LF	\$400.00	\$6,000.00	\$56.30	\$844.50
22	Abandon 42" Storm Sewer	70	LF	\$750.00	* \$52,500.00	\$32.44	\$2,270.80
23	Furnish & Install 18" Storm Sewer	21	LF	\$21.63	\$454.23	\$72.02	\$1,512.42
24	Furnish & Install 21" Storm Sewer	13	LF	\$27.40	\$356.20	\$236.63	\$3,076.19
25	Furnish & Install 24" Storm Sewer	803	LF	\$32.36	\$25,985.08	\$94.72	\$76,060.16
26	Furnish & Install 60" Storm Sewer	42	LF	\$170.96	* \$7,180.32	\$178.32	\$7,489.44
27	Furnish & Install 66" Storm Sewer	1,111	LF	\$208.80	\$231,976.80	\$206.60	\$229,532.60
28	Furnish & Install 18" Apron Endwall	2	EA	\$607.50	\$1,215.00	\$734.75	\$1,469.50
29	Furnish & Install 66" Apron Endwall	1	EA	\$4,215.00	\$4,215.00	\$3,838.50	\$3,838.50
30	Furnish & Install 48" Dia. Storm Manhole	74	VF	\$114.00	\$8,436.00	\$114.46	\$8,470.04
31	Furnish & Install 60" Dia. Storm Manhole	4	VF	\$256.50	* \$1,026.00	\$849.37	\$3,397.48
32	Furnish & Install Box Manhole	21	VF	\$1,754.10	\$36,836.10	\$1,136.90	\$23,874.90
33	Furnish & Install Tee Line Manhole with Bend	20	VF	\$952.50	\$19,050.00	\$749.25	\$14,985.00
34	Furnish & Install Storm Manhole with Sump & Snout, or Owner Approved Ec	1	EA	\$7,500.00	\$7,500.00	\$5,664.50	\$5,664.50
35	Furnish & Install Storm Manhole Casting	10	EA	\$200.00	\$2,000.00	\$1,095.10	\$10,951.00
36	Furnish & Install Outlet Structure	1	EA	\$10,320.00	\$10,320.00	\$10,830.83	\$10,830.83
37	Furnish & Install Extra Stone Bedding	200	TON	\$20.00	\$4,000.00	\$17.25	\$3,450.00
38	Furnish & Install Permanent Gravel Access Road	895	SY	\$39.56	\$35,406.20	\$22.91	\$20,504.45
1	Furnish & Install Extra Stone Bedding	200	TON	\$20.00	\$4,000.00	\$17.25	\$3,450.00
39	Furnish & Install Shoreline Zone Seeding & Fertilizer	1,492	SY	\$0.75	\$1,119.00	\$2.65	\$3,953.80
40	Furnish & Install Side Slope Zone Seeding & Fertilizer	30,718	SY	\$0.75	\$23,038.50	\$0.85	\$26,110.30
41	Furnish & Install Wetland Seed, Mulch & Fertilizer	566	SY	\$0.75	\$424.50	\$2.65	\$1,499.90
42	Furnish & Install Turf Grass Seed, Mulch & Fertilizer	1,537	SY	\$0.75	\$1,152.75	\$1.15	\$1,767.55
43	Furnish & Install No Mow Fescue Seed, Mulch & Fertilizer	6,380	SY	\$0.75	* \$4,785.00	\$1.35	\$8,613.00
44	Furnish & Install Seed, Mulch & Fertilizer - Reforestation Area	4,722	SY	\$0.75	* \$3,541.50	\$1.22	\$5,760.84
		TOTAL IT	EMS 1		\$1,456,043.04	,	\$2,111,571.98

LEONA STREET STORMWATER POND Unit G-19

	January 21, 2019		1	Kruczek Construc	ction Inc.	PTS Contractors, Inc.		
Item No.	. Description	Qty	Unit	Unit Price	<u>Total</u>	Unit Price	<u>Total</u>	
1	Mobilization	1	LS	\$28,000.00	\$28,000.00	\$35,000.00	\$35,000.00	
2	Furnish, Install, Maintain & Remove Erosion Control	- 1	LS	\$6,600.00	\$6,600.00	\$5,450.00	\$5,450.00	
3	Furnish, Install, Maintain & Remove Silt Fence	6,163	LF	\$2.00	\$12,326.00	\$2.60	\$16,023.80	
4	Furnish, Install, Maintain & Remove StoneTracking Pad	3	EA	\$1,000.00	\$3,000.00	\$830.00	\$2,490.00	
5	Furnish, Install, Maintain & Remove Temporary Access Road	1	LS	\$30,000.00	\$30,000.00	\$16,300.00	\$16,300.00	
6	Furnish & Install Soil Stabilizer, Type B	2,144	SY	\$1.00	\$2,144.00	\$0.60	\$1,286.40	
7	Furnish & Install Hydromulch Bonded Fiber Matrix	8,039	SY	\$0.50	\$4,019.50	\$0.90	\$7,235.10	
8	Furnish & Install Erosion Control Mat, Class I, Type A	3,500	SY	\$1.25	\$4,375.00	\$1.55	\$5,425.00	
9	Furnish & Install WisDOT Medium Riprap & Filter Fabric	57	CY	\$66.00	\$3,762.00	\$42.20	\$2,405.40	
10	Furnish, Install, Maintain & Remove 12-inch Diameter Sediment Logs	190	LĖ	\$10.50	\$1,995.00	\$8.75	\$1,662.50	
11	Furnish, Install & Maintain Site Safety Fence	2,390	LF	\$4.00	\$9,560.00	\$4.10	\$9,799.00	
12	Furnish, Install, Maintain & Remove Traffic Control	. 1	LS	\$3,000.00	\$3,000.00	\$6,500.00	\$6,500.00	
13	Clear & Grub	1	LS	\$5,000.00	\$5,000.00	\$15,600.00	\$15,600.00	
14	Strip & Stockpile Topsoil	2,169	CY	\$1.40	\$3,036.60	\$3.15	\$6,832.35	
15	Obtain Clay Samples	1	LS	\$2,000.00	\$2,000.00	\$0.01	\$0.01	
16	Common Excavation	74,434	CY	\$8.75	\$651,297.50	\$8.30	\$617,802.20	
17	Import Clay Material	2,203	CY	\$4.00	\$8,812.00	\$8.90	\$19,606.70	
18	Install Clay Liner	2,203	CY	\$4.00	\$8,812.00	\$2.90	\$6,388.70	
19	Scarify & Compact Existing Clay	6,083	SY	\$1.40	\$8,516.20	\$0.40	\$2,433.20	
20	Install Salvaged Topsoil, Pond	2,169	CY	\$9.25	\$20,063.25	\$3.90	\$8,459.10	
21	Abandon 21" Storm Sewer	15	LF	\$125.00	\$1,875.00	\$68.00	\$1,020.00	
22	Abandon 42" Storm Sewer	70	LF	\$100.00	\$7,000.00	\$50.00	\$3,500.00	
23	Furnish & Install 18" Storm Sewer	21	LF	\$66.00	\$1,386.00	\$46.00	\$966.00	
24	Furnish & Install 21" Storm Sewer	13	LF	\$330.00	\$4,290.00	\$410.00	\$5,330.00	
25	Furnish & Install 24" Storm Sewer	803	LF	\$115.00	\$92,345.00	\$141.00	\$113,223.00	
26	Furnish & Install 60" Storm Sewer	42	LF	\$450.00	\$18,900.00	\$377.00	\$15,834.00	
27	Furnish & Install 66" Storm Sewer	1,111	LF	\$250.00	\$277,750.00	\$199.00	\$221,089.00	
28	Furnish & Install 18" Apron Endwall	2	EA	\$625.00	\$1,250.00	\$677.00	\$1,354.00	
29	Furnish & Install 66" Apron Endwall	1	EA	\$4,600.00	\$4,600.00	\$4,095.00	\$4,095.00	
30	Furnish & Install 48" Dia. Storm Manhole	74	VF	\$190.00	\$14,060.00	\$232.00	\$17,168.00	
31	Furnish & Install 60" Dia. Storm Manhole	4	VF	\$990.00	\$3,960.00	\$698.00	\$2,792.00	
32	Furnish & Install Box Manhole	21	VF	\$800.00	\$16,800.00	\$1,350.00	\$28,350.00	
33	Furnish & Install Tee Line Manhole with Bend	20	VF	\$1,375.00	\$27,500.00	\$450.00	\$9,000.00	
34	Furnish & Install Storm Manhole with Sump & Snout, or Owner Approved Ec		EA	\$7,500.00	\$7,500.00	\$6,250.00	\$6,250.00	
35	Furnish & Install Storm Manhole Casting	10	EA	\$1,200.00	\$12,000.00	\$1,130.00	\$11,300.00	
36	Furnish & Install Outlet Structure	1	EA	\$3,835.47	\$3,835.47	\$3,465.00	\$3,465.00	
37	Furnish & Install Extra Stone Bedding	200		\$0.01	\$2.00	\$0.01	\$2.00	
38	Furnish & Install Permanent Gravel Access Road	895		\$23.00	\$20,585.00	\$26.00	\$23,270.00	
1	Furnish & Install Extra Stone Bedding	200		\$0.01	\$2.00	\$0.01	\$2.00	
39	Furnish & Install Shoreline Zone Seeding & Fertilizer	1,492		\$1.70	\$2,536.40	\$1.55	\$2,312.60	
40	Furnish & Install Side Slope Zone Seeding & Fertilizer	30,718		\$0.75	\$23,038.50	\$1.25	\$38,397.50	
41	Furnish & Install Wetland Seed, Mulch & Fertilizer	566		\$1.80	\$1,018.80	\$2.60	\$1,471.60	
42	Furnish & Install Turf Grass Seed, Mulch & Fertilizer	1,537		\$1.00	\$1,537.00	\$1.80	\$2,766.60	
43	Furnish & Install No Mow Fescue Seed, Mulch & Fertilizer	6,380		\$1.00	\$6,380.00	\$2.00	\$12,760.00	
44	Furnish & Install Seed, Mulch & Fertilizer - Reforestation Area	4,722		\$1.25	\$5,902.50	\$1.90	\$8,971.80	
		TOTAL IT			\$1,372,372.72		\$1,321,389.56	

LEONA STREET STORMWATER POND Unit G-19 January 21, 2019

	January 21, 2015			RC Excavating, inc.	1
Item No.	Description	Qty	Unit	Unit Price	<u>Total</u>
1	Mobilization	1	LS	\$20,000.00	\$20,000.00
2	Furnish, Install, Maintain & Remove Erosion Control	1	LS	\$10,000.00	\$10,000.00
3	Furnish, Install, Maintain & Remove Silt Fence	6,163	LF	\$2.05	\$12,634.15
4	Furnish, Install, Maintain & Remove StoneTracking Pad	3	EA	\$1,500.00	\$4,500.00
5	Furnish, Install, Maintain & Remove Temporary Access Road	1	LS	\$26,500.00	\$26,500.00
6	Furnish & Install Soil Stabilizer, Type B	2,144	SY	\$0.56	\$1,200.64
7	Furnish & Install Hydromulch Bonded Fiber Matrix	8,039	SY	\$0.50	\$4,019.50
8	Furnish & Install Erosion Control Mat, Class I, Type A	3,500	SY	\$1.25	\$4,375.00
9	Furnish & Install WisDOT Medium Riprap & Filter Fabric	57	CY	\$61.00	\$3,477.00
10	Furnish, Install, Maintain & Remove 12-inch Diameter Sediment Logs	190	LF	\$10.50	\$1,995.00
11	Furnish, Install & Maintain Site Safety Fence	2,390	LF	\$4.05	\$9,679.50
12	Furnish, Install, Maintain & Remove Traffic Control	1	LS	\$4,550.00	\$4,550.00
13	Clear & Grub	1	LS	\$15,000.00	\$15,000.00
14	Strip & Stockpile Topsoil	2,169	CY	\$5.00	\$10,845.00
15	Obtain Clay Samples	1	LS	\$500.00	\$500.00
16	Common Excavation	74,434	CY	\$11.00	\$818,774.00
17	Import Clay Material	2,203	CY	<u>\$10.00</u>	\$22,030.00
18	Install Clay Liner	2,203	CY	\$6.20	\$13,658.60
19	Scanfy & Compact Existing Clay	6,083	SY	\$0.30	\$1,824.90
20	Install Salvaged Topsoil, Pond	2,169	CY	\$5.50	\$11,929.50
21	Abandon 21" Storm Sewer	15	LF	\$21.00	\$315.00
22	Abandon 42" Storm Sewer	70	LF	\$50.00	\$3,500.00
23	Furnish & Install 18" Storm Sewer	21	LF	\$76.00	\$1,596.00
24	Furnish & Install 21" Storm Sewer	13	LF	\$314.00	\$4,082.00
25	Furnish & Install 24" Storm Sewer	803	LF	<u>\$144.00</u>	\$115,632.00
26	Furnish & Install 60" Storm Sewer	42	LF	\$287.00	\$12,054.00
27	Furnish & Install 66" Storm Sewer	1,111	LF	\$169.00	\$187,759.00
28	Furnish & Install 18" Apron Endwall	2	EA	\$695.00	\$1,390.00
29	Furnish & Install 66" Apron Endwall	1	EA	\$4,550.00	\$4,550.00
30	Furnish & Install 48" Dia. Storm Manhole	74	VF	\$228.00	\$16,872.00
31	Furnish & Install 60" Dia, Storm Manhole	4	VF	\$864.00	\$3,456.00
32	Furnish & Install Box Manhole	21	VF	\$1,515.00	\$31,815.00
33	Furnish & Install Tee Line Manhole with Bend	20		\$455.00	\$9,100.00
34	Furnish & Install Storm Manhole with Sump & Snout, or Owner Approved Ec			\$7,075.00	\$7,075.00
35	Furnish & Install Storm Manhole Casting	10		\$835.00	\$8,350.00
36	Furnish & Install Outlet Structure	1		\$9,100.00	\$9,100.00
37	Furnish & Install Extra Stone Bedding	200		\$12.75	\$2,550.00
38	Furnish & Install Permanent Gravel Access Road	895		\$32.00	\$28,640.00
1	Furnish & Install Extra Stone Bedding		TON	\$12.75	\$2,550.00
39	Furnish & Install Shoreline Zone Seeding & Fertilizer	1,492		\$1.50	\$2,238.00
40	Furnish & Install Side Slope Zone Seeding & Fertilizer	30,718		\$0.72	\$22,116.96
41	Furnish & Install Wetland Seed, Mulch & Fertilizer	566		\$1.50	\$849.00
42	Furnish & Install Turf Grass Seed, Mulch & Fertilizer	1,537		\$0.85	\$1,306.45
43	Furnish & Install No Mow Fescue Seed, Mulch & Fertilizer	6,380		\$0.90	\$5,742.00
44	Furnish & Install Seed, Mulch & Fertilizer - Reforestation Area	4,722		<u>\$1.10</u>	\$5,194.20
		TOTAL I	TEMS 1		\$1,485,325.40

RC Excavating, Inc.